Math 105 TOPICS IN MATHEMATICS

SOLUTION FOR QUIZ — X (04/06)
April 10 (Fri), 2015

Instructor: Yasuyuki Kachi

Line #: 52920.

2
0 (6pts) (1) (g;2 - 4) = 2 — 822 + 16.
2
(2) <x2 ¥4z + 2) = 2 4 827 + 202 + 16z + 4.
Work. 22 4+ 4z 4+ 2

2 4+ 4z + 2

222 4+ 8z + 4
423 + 1622 + 8=z
x + 423+ 222

¥ + 8z + 2022 + 16z + 4

2
3 1+ a+ 2% + 2% + 24
(3)
= 1+ 2x + 322 + 423 + 52* + 42° + 325 + 227 + 8.

Work. 2t 4+ 2+ 22+ + 1
ot + 2+ 2%+ + 1

Y+ 2+ +1
4+t + 2+ o
2% + 2° + 2t + 23 + 2P
' + 2% + 2 + 2t 4+ 23
a® + xT 2%+ 2% o

a8+ 227 + 320 + 425 + 52 +42% + 322 + 22 + 1
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[I1] (2pts) <a: — 2) <x + 3)2 = (a: — 2) (:z:2 + 6z + 9)

= 23 + 42°% — 3z — 18.

Work. 22 + 62 + 9
><) r - 2
— 2z - 12z — 18

¥ + 622 + 9z

> 4+ 422 — 3z — 18

) 2pts) (v - 1) (2 + 1) (2% + 1) (o + 1)

[IV] (6pts)

W v (v e
= (= + ) )((x2+1>+\/_a:>(x4—1>
_ >x_1

= <+2:L'+1)—2x>(x4—1>

_ (51:4—1—1)(:1:4 - 1) = 25— 1.
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@ (e -vVZ-V3) (e +vT-VE)(x - VZ+VE) (z + VI +V3)
- (=) (ve) )
| ((Hﬁ) —ﬁ) ((x+ﬁ)+ﬁ>
= (v =) () - ()
_ @ _mr¢+3_@@;+m@¢+s_9

= (a: —2\Fx+1)(a: +2\/_:17+1)

:< —2\/_:5)( 1)+w§x>
- (o) (v
_ ( T 222 )_ (129;2) 21027 4 L

[V] (4pts)

(v +1) (e+2) (2+3) (e+4) (&+5) (e+6) (e +7)

= 27 4+ 282° 4+ 32225 + 1960x* + 676922 + 1313222 + 13068z + 5040.



Work for [V].

1

1/ \1
1 1

1/ 2\ /1 \e
1 3 2
1/ 3\ /1 o3\ /1 \3
1 6 11 6

1/ 4\ /1 4\ /1 4\ /1 \a
1 10 35 50 24

1/ 5\ /1 s\ /1 s\ /1 5\ /1 \s
1 15 85 225 274 120

1/ 6\ /1e\ /16\ /16\ /16\ /1 \e
1 21 | |175| |735| [1624| [1764| |720

1/ 7\ /17N /17N Jroa\ 1o\ o7\ 1\

1 28 322 1960 6769 [3132 [3068 |5040
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